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All questions are compulsory.
The figures in the right hand margin indicate full marks for the questions.

Answer Question Nos. 1 to 5 in about 20 words each.
1. Which are said to be business activities ? 2

e @BRE T R A7 e ?

2 Give two examples of genetic industry. 2
oo 2R S Ay )
3. Whatis plastic money ? - 2

2o S AR AT ?
4. Show the formula of calculating cost of goods sold. 2
B 6% GG CIFS (SR A ve o) T ettt frmay S |
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Why is fire insurance called contract of strict indemnity ? 2"

TR TR WO Ay w1 ZAvaafed e ki s 2
Answer Question Nos. 6 i 11 i about 40 words each.

Name three important activities that facilitate the trading functions. 3

CONETD CoTT (ARG el STeR #1ed1 36 @RAT CqIe g g |

Write the main objects of writing cffer letter. 3

ST (154 ST TI9 TSI AT TG |

Calculate Gross profit and cost ¢f goods sold from the following : 3
Netsales -- # 1,00,000

G.P - 25%onsales

e A wEwSt (ot (NS SR (AR 8T QYT G (T
Goorm ~  © 1,00,000

f&. 41, 25% e Sl

In what ce. 2gory does marine insurance differ from other insurances ? 3

(SRR SRR S0 WS TR g NI (IR 7 |

Draft a tetter of enquiry tc Sultan Chand & Co., Delhi, asking them the
availability of accountancy text-books of different authors for the use in
Class X1 & X1I, Commerece.

Sign your name as Manager, K. ¥.. Book House, Imphal. 3
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@t t=r Sultan Chand & Co. 1 cersef ap1 XI & XII o Fifemn, stawar
@R Accountancy SRR el ZRET 261 SlfRan e e &y |

T (. (. I YO (SR R IR BT |

From the following information, prepare a Trading Account for the year

ended 31stMarch, 2013: 3
Coét cigoodssold — T 80,000
Séles - 1,00,000
Wages -t 2,500
Closingstock = - ¢ 6,000

e A et wtwa (March 7 g 52 2013 ) cafdR SRS s =18 ;

T8 ST GG CTF% — T 80,000
(cﬂmﬁzn AR Wﬁ?ﬂ We)

o (e amiRar) — - © 1,00,000
<o - T 2500
CORCEAT (B - T 6000

Answer Question Nos. 12 to 16 in about 60 words each.

Explain the different channels of distribution. 4
Rfggr=a o TR TP SRS ¢

Write the importance of insurance to an individual. ' 4
% oo TR ety TS | '

Contd.




4. Calculate closing stock from the following details : 4

4
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Opening stock —%38,000; Goods return — 5,000 (Dr.); Sales —%3,60,000: |

Purchases — ¥ 3,40,000; Goods return — t 4,000 (Cr.); Freight inward —
#26,000; Gross loss - 7 20 000

@ Aifgafe abmm @fés @R e :

calmRem (el (B (@sifeie (B1w) — & 38,000; sitareHle 2511 — 5,000 (cef<B);
o — ¥ 3,60,000; FEmTAe tareedl — ¥ 3,40,000; FEWCN TRl — % 4,000
(cofeh) ; @b Tmars ~ ¥ 26,000; @™ @&t — ¥ 20,000

Examine the procedure of collecting a specially crossed cheque from the
bank. 4

AT CEP G (GRS SR YT TS SRS TR SRS |
Extract of a Trial Balance as at 31.3.2013

Machine - 7 5,00,000, Furniture — = 80,000, Machine to be depreciated —

ai 20% p.a., Furniture —at 10% p.a.
Show the necessary entries and its effect on Final Account. 2+2=4
31.3.2013 &1 Tidye (QUais Sl ICyTeei qearEmie ;

5~ ¢ 5,00,000, wafise - ¢ 80,000, ceifia (221 5i)— cafiet 511 20 573,
wafasa - s 10 3

s e afzihe By s S TS (T SN S ORE |

Explain the Agency functions of a bank. 8

T TNAY TR TEANA Y QIR SRS |

Contd.

18. From the balances of a Trader, prepare a Balance Sheet as on 31st March,

2013: 8

~ Machinery - © 2,00,000; Creditors —  1,20,000; Bank O.D. — ¥ 90,000;

Land and Building — ¥ 3,00,000; Furniture — % 75,000; Cash — ¥ 10,000;
Debtors — © 1,60,000; Bank loan — t 1,00,000; Bills receivable —t 50,000
Closing stock — t 1,00,000; Bills payable - ¥ 30,000 ; Capital -  7,50,000;
Investment — t 40,000 ; Drawings — % 65,000; Net loss — t 90,000

T AR @S wwen @eerArie wiwen 31st March, 2013 w w%swar Balance
Sheet =7 =16 ; ‘

cfgdt — t 2,00,000; @G — 1,20,000; % 8., — t 90,000 G-
feifae — ©8,00,000; =53 — ¥ 75,000; @ — ¥ 10,000; c&3521 — ¢ 1,60,000 :
e~ € 1,00,000; Repi fAfieee —  50,000; @ifée Brs = % 1,00,000;
f&p core — € 30,000; @Prebar — © 7,50,000 ; FCSENS — ¥ 40,000
(g2 — ¥ 65,000; 6 @Rt — ¥ 90,000

Answer to Questioh Nos. 19 to 28 should be in complete sentences.

19. Whatis a post dated cheque ? 1
CoIT8 CHLOH CBIRs BRRTT IRCAT 9

20. Whatis meant by eridorsement of acheque ? 1
513 S GOSPITND O Za R 2

21. Nameene i'mpor-ta_m itemn which may be included in an “enquiry letier made
for some favour”. 1
Bl TR -’ Al ORI oar R e et wfie ofgg |

22. Towhom and by whom is a complaint letter written ? : 1
AN SYE A PACLD (@0 27T 2 7
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How is closing stock valued ? 1

@f&e (Brdl (oe] FA CFAHTS ?

Show the treatment of drawings in final account. 1
IR SPRSD TR (GRS FAHI GwamCel B |
What is the special purpose of preparing position statement ? 1

o CEBTRT ST Cer A SRl AT ACH] ?

Give one point of difference between error of commission and error of
omission. 1

S \GT TP 27 9 ST (AT SR ¥ |

Point out one activity or service which is not regarded as gconomic activity.
1

ST CFBTSHR ZRAT TR 4RT TR OIS |
How-will an error be pointed out to a supplier 7 1
FHoTBHE SN ST SR ST Orameal 7

To answer Question Nos. 29 to 34, choose the correoi alternatives
and rewrite. =

The single fire insurance policy which is taken to cover goods lying at
different places, is known as 1

(a) Replacementpolicy (b) Comprehensive policy

(c) Floating policy

mmmmcmaﬁqmm@m@ﬁmﬁmmmwwﬁﬁ

g PR |
(7) T confati
(a1)  @IfBe corfe

(%) ReEABR cofEit

Contd.

30. Utmost good faith means ——. 1

(a) tocompensate the lossinterms of money
(b) mutualtrust and confidence

(c) the proportionate contribution by the insurer
OB & (T TEIM |
(%) wmneaq o SX A TR (%) QAT PR S AR B Z
(o1) 2o T S (AR SR P SO T

1

31. The type of bank ac(;ount which are not pperated for a long period is
known ' 1
(a) Non-currentaccount (b) Discontinued account
(c) Dormantaccount
oW A GOICHD COEL (T D] G |
() TA-FED SRET- (7) To-zfbagm oieD
(1) CoOHD TRSD
32. The central part of business letters is
(a) Orderletter ' (b) Complaintletter
(c) Offerletter '
o B S TR R
(3) &R (%) wees iR
(1) eFfdR '
53. Which of the following is not a current liability ? 1
(@) Outstanding rent (b) Sundry creditors
(c) Prepaid insurance
g7 RM 26Com (N) 7 Contd.
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(¥) Frawa =@ (%) 1% coRitmm
(o1)  ScSEA AR SeETH

Gross profit on = 80,000 (cost) at 20% on sales, is
(a) ¥20,000 (b) 16,000
(c) ©13,333

7 80,000 1 (@), (Hepi o caIReRfit cam canfRS i
(=) 20,000 (%) 16,000
() 13,333

\sﬁﬂﬁ |
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